LOSUNG zu bsp-6623-3/SKTX

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 6623

Aufgabe 1
Setze <, > oder = ein.

a) 823 < 834 1) 143 < 395
¢) 389 > 385  f) 886 > 506

Aufgabe 2
Setze <, > oder = ein.

a) 66 < 87 b) 12 < 47
f) 61 < 93 g) 94 > 19

Aufgabe 3
Setze <, > oder = ein.

a) 95349 > 6834 D) 24173 < 83240
d) 98647 > 37161 ) 88394 > 46955
¢) 69394 > 44247 1) 47411 < 77901

j) 98094 > 41038
Aufgabe 4
Setze <, > oder = ein.

a) 510 > 449 1) 811 = 811
¢) 654 < 844 ) 720 < 810
) 247 > 57 j) 709 > 249
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c) 47 > 37
h) 95 > 85

¢) 60 < 407

¢) 206 < 783
¢) 558 > 226
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d) 814 > 156

d) 74 <98  ¢)25<97
)88 >35  j)21 <72

¢) 31894 < 62293
£) 24945 < 49834
i) 74800 > 30301

d) 941 < 966
h) 856 > 116
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